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SOLUZIONI DEGLI ESERCIZI DEL TESTO – PARTE A 

CAPITOLO A1  
Verifica le tue conoscenze  
1 b  
2 c  
3 b  
4 b  
5 b  
6 c  
7 Insetti/Classe; melanogaster/Specie; animali/ Regno; Eukarya/Dominio; 

Drosophila/Genere  
8 d  
9 d  
10 a  
11 d  
12 d  
13 d 

 

Verifica le tue abilità 
Metti a fuoco il concetto 
 
14 Il nome comune di un organismo varia da luogo a luogo e, a volte anche 

nel tempo, ma il nome scientifico di un organismo è universale e costante.  
 
15 Un campus universitario si trova in un luogo, così come un ecosistema. La 

popolazione di studenti, la facoltà e l’amministrazione comunicano tra di 
loro e con l’ambiente fisico (i palazzi).  

 
16 La biosfera è alimentata dall’energia solare, che viene solo in minima 

parte utilizzata dagli organismi viventi (per la fotosintesi) e per il resto si 
disperde sotto forma di calore nell’atmosfera; il calore si disperde, perciò 
non si può parlare di ciclo. D’altra parte, la materia esistente sulla Terra 
non la abbandona mai, ma tutt’al più si trasforma in altre forme fisiche e 
chimiche, e perciò può tornare a far parte dei viventi e del mondo fisico, 
in un ciclo continuo.  

 
17 L’evoluzione può portare da una parte ad adattamenti simili su linee 

evolutive diverse, ma più spesso una linea evolutiva è soggetta alle stesse 
pressioni adattative e quindi la selezione naturale lavora nella stessa 
direzione.  

 
18 No, perché un organo è un insieme di tessuti che svolgono una funzione 

complessa, a loro volta costituiti da singole cellule specializzate, mentre 
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un protista è esso stesso una singola cellula del tutto indipendente, perciò 
corrisponde al livello di organizzazione di organismo.  

 
19 Un esperimento ripetibile garantisce che le ricerche possano essere riprese 

e che, sulla loro base, si possa approfondire un argomento, provare nuove 
ipotesi e, in ultima analisi, procedere nell’acquisizione di nuove 
informazioni scientifiche; se l’esperimento non fosse ripetibile, non si 
tratterebbe di scienza, e quella ricerca non potrebbe essere la base per 
nuove ricerche. 	
  

 

Acquisisci i termini  
 
20 a. phylum, b. adattamenti, c. nome scientifico (nomenclatura binomiale), 

d. procariota, e. ipotesi scientifica  

 

Understanding the terms  
 
21 a. metabolism, b. evolution, c. photosynthesis, d. control group  

 

Thinking scientifically  
 
22 a. Bacteria don’t die in sunlight when dye is present.  

b. Dye is protective against UV radiation.  
c. Experiment consists of exposing control and test groups to UV light.  

 d. Hypothesis is not supported. 
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CAPITOLO A2  
Verifica le tue conoscenze  
1 c  
2 d  
3 b  
4 a  
5 c  
6 c  
7 a  
8 Composti ionico/Cloruro di sodio (NaCl); Composto covalente polare /Acqua 

(H2O); Composto covalente apolare/Metano (CH4); Acido forte/Cloridrico 
(HCl); Base forte / Idrossido di sodio (NaOH); Componente del sistema 
tampone sanguigno/Acido carbonico-ione bicarbonato.  

9 b  
10 d  
11 a  
12 b  
13 a  
14 a 

 

Verifica le tue abilità 
Metti a fuoco il concetto 

	
  15 Perché l’azoto ha bisogno di tre elettroni in più per completare l’ottetto e 
diventare stabile; ciascuna idrogeno contribuisce con un elettrone. 

 
16 The oceans don’t freeze because, when the temperatures fall, the blocks 

of ice that form on the surface of the water float and isolate the water 
below. 

 
17 Il vento allontana dal corpo il sudore evaporato, impedendo che l’aria 

vicino ad esso si saturi. Ciò facilita ulteriore evaporazione e quindi 
raffreddamento del corpo.  

 
18 CaCl2  
 
19 L’acqua è il solvente ideale, nel quale avvengono tutte le reazioni chimiche 

degli organismi; in assenza di un solvente idoneo la maggior parte di esse 
non avverrebbero.  

 
20 Avviene la reazione fra biossido di carbonio e acqua, con formazione di 

acido carbonico che è un acido debole.  
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Acquisisci i termini  
 
21 a. elemento chimico, b. elettroni di valenza, c. reattività, d. neutralità, e. 

solvente, f. tensione superficiale, g. elemento  
 

Understanding the terms  
 
22 a. polar covalent bond, b. ion, c. acid 

 

Thinking scientifically  
 
23 a. It is gaseous  

b. H2S  
 
 
 
c. Covalent bond  
d. There are no hydrogen bonds among molecules 

 
24 a. We can collect several samples in different points of the lake, at various 

distances from the banks and at different times.  
b. We can measure the pH of stream water at the mouth and before it.  
c. We can analyse the fumes, and check if they contain substances that 
may produce acid compounds in the atmosphere; then we should analyse 
the wind in order to discover if these compounds may reach the lake.  
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CAPITOLO A3  
Verifica le tue conoscenze  
1 c  
2 c  
3 c  
4 d  
5 c  
6 a  
7 b  
8 Actina e miosina/Movimento; Emoglobina/ Trasporto; Cheratina, 

collagene/Sostegno; Anticorpi/Difesa; Insulina/Regolazione; 
Enzimi/Metabolismo  

9 b  
10 d  
11 c  
12 a  
13 d  
14 a  
15 c  
 

Verifica le tue abilità 
Metti a fuoco il concetto 
 
16 Le catene di cellulosa possono formare delle fibre perché si formano dei 

legami idrogeno quando sono appaiate. Le ramificazioni osservate 
nell’amido non possono creare degli appaiamenti tra le catene.  

 
17 La testa idrofila interagisce con i fluidi permettendo alle code idrofobiche 

di orientarsi una opposta all’altra formando un doppio strato.  
 
18 Tale clima è soggetto a violenti acquazzoni quotidiani; lo strato ceroso 

facilita lo scorrimento dell’acqua e rinforza le foglie che non vengono 
quindi danneggiate.  

 
19 La prima presenta un gruppo –R apolare (senza parziali cariche 

elettriche), la seconda ha invece un gruppo –R che contiene un -OH (con 
parziali cariche elettriche).  

 
20 La presenza di un composto acido determina la coagulazione delle 

proteine del latte. 
 
 
 
 
 
 
 
 
 
 
21  
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Acquisisci i termini  
 
22 a. condensazione, b. idrolisi, c. adenina, d. struttura secondaria delle 

proteine, e. cellulosa, f. fosfato, g. ponte disolfuro, h. denaturazione  

 

Understanding the terms  
 
23 a. carbohydrate, b. lipid, c. polymer, d. isomer  

 

Thinking scientifically  
 
24 a) Subject the seeds of temperate and tropical plants, for which you know 

the amount and kind of oil content, to a range of temperatures from 
above freezing to below freezing for an extended length of time. Plant the 
seeds and compare the percentage of survivals per type of plant.  
b) The presence of unsaturated oils in temperate plant seeds may be an 
adaptation to the environment.  

 
25 Possible hypothesis:  

1) The abnormal enzyme will not produce as much product per unit time 
as the normal enzyme.  
2) The abnormal enzyme will have a different shape from the normal 
enzyme due to changes in organization.  

 
26 It is possible to identify the types of flours, observing their starch granules 

under the microscope.  
 
27 They marked DNA with radioactive phosphorous which is an element 

present in nucleic acids, but not in proteins, while proteins can be marked 
with radioactive sulphur which is present in some amino acids, such as 
cysteine and methionine, but not in nucleic acids. 
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CAPITOLO A4  
Verifica le tue conoscenze  
1 c  
2 c 
3 a  
4 d  
5 c  
6 c  
7 Desmosomi/Cellule animali; Plasmodesmi/ Cellule vegetali; 

Mitocondri/Respirazione cellulare; Cloroplasti/Fotosintesi; Plastidi/ Cellule 
vegetali, protisti; Parete cellulare/ Cellule vegetali, batteri; Flagello/ 
Spermatozoo  

8 b  
9 d  
10 c  
11 c  
12 b  
13 d  

 

Verifica le tue abilità 
Metti a fuoco il concetto 
 
14 La minor dimensione della cellula procariotica e la sua semplicità 

strutturale (la mancanza di un nucleo e di altri organuli) sono evidenze 
che suggeriscono che si siano evoluti prima rispetto agli eucarioti.  

 
15 RER: costellato con ribosomi: soddisfa le esigenze della sintesi proteica; 

lungo e tubulare: gli enzimi per modificare le proteine sono adese alle 
pareti; forma le vescicole: le vescicole hanno funzioni di trasporto.  

 
16 L’assenza di nucleo aumenta lo spazio interno che può quindi contenere 

più molecole di emoglobina, la forma a disco biconcavo aumenta la 
superficie di scambio dei gas.  

 
17 Sintesi proteica, respirazione cellulare, riproduzione  
 
18 Cloroplasti: fotosintesi  

Flagelli: mobilità cellule  
Microvilli: assorbimento  
Apparato di Golgi + numerose vescicole: secrezione 
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19  
 

 
 

Acquisisci i termini  
 
20 a. pilo sessuale, b. endosimbiosi, c. cromatina, d. poliribosoma, e. 

centriolo, f. plasmodesma, g. occludenti o serrate  

 

Understanding the terms  
 
21 a. Golgi apparatus, b. proxisome, c. nucleolus, d. cytoskeleton  

 

Thinking scientifically  
 
22 a. They separate according to their mass.  

b. From the lightest to the heaviest: ribosomes, lysosomes, endoplasmic 
reticulum, mitochondria, nuclei and cell remains.  
c. Near the bottom of the test tube.  

 
23 We can kill bacteria by heat; then if we transfer them in new Petri dishes 

and we work in a sterile environment, no new colonies will form. 
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CAPITOLO A5  

Verifica le tue conoscenze  
1 a  
2 d  
3 d  
4 a  
5 a  
6 d  
7 d  
8 

 
 
9 c  
10 b  
11 c  
12 d  
13 c  
14 a  

 

Verifica le tue abilità 
Metti a fuoco il concetto 
 
15 Gli alimenti sfusi sono come il cibo conservato in dispensa: Il glicogeno è 

energia conservata nel fegato e nei muscoli; i pasti provvedono a dare 
energia sufficiente fino ad un successivo stimolo della fame; l’ATP è 
sufficiente solo per una reazione.  

 
16 I soluti trattengono la porzione liquida del sangue nei vasi sanguigni 

permettendo al sangue di fluire.  
 
17 Temperatura, gradiente di concentrazione, dimensioni e tipologia delle 

molecole. 
 
18 L’elevata concentrazione salina dei suoli riduce l’assorbimento di acqua dal 
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terreno e provoca la disidratazione per osmosi. Adattamenti: accumulo di 
cloruro di sodio nei vacuoli, eliminazione del cloruro di sodio mediante 
cellule secretrici, sviluppo di resistenza all’entrata del cloruro di sodio nella 
cellula. 

 

Acquisisci i termini  
 
19 a. soluto, b. doppio strato fosfolipidico, c. reazioni accoppiate, d. pompa 

sodio-potassio, e. vescicola, f. mosaico fluido 
 

Understanding the terms  
 

20 a. differentially permeable, b. osmosis, c. hypertonic solution, d. 
glycoprotein, e. phagocytosis  

 

Thinking scientifically  
 

21 Ecosystems need a source of energy because energy cannot be created. 
They need a continous supply because with each energy transformation, 
heat is lost; eventually, all the energy taken in is lost.  

 
22 a. The plunger moves to the right since a gas (O2) is produced.  

b. On the basis of the shift of the syringe plunger.  
c. No reaction would occur because the enzyme would be denatured.  
d. You could cut down the liver into very small pieces. 
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CAPITOLO A6  
Verifica le tue conoscenze  
1 c  
2 b  
3 c  
4 d  
5 a  
6 c  
7 c 
8  

 
 
 
9 b  
10 a  
11 c  
12 d  
13 a  
14 a  
15 b 
 

Verifica le tue abilità 
Metti a fuoco il concetto 

 
16 In seguito al crossing-over e all’allineamento indipendente i cromosomi 

nelle cellule uovo e negli spermatozoi trasportano informazioni differenti. 
 
17 a. Metafase 

b. I cromosomi sparsi in tutta la cellula e non sul piano equatoriale 
c. Per l’analisi del cariotipo. 
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18 

 
Acquisisci i termini  

 
19 a. scissione binaria, b. somatiche, c. sessuali, d. autosomi, e. cromosomi 

sessuali, f. sinapsi  

 

Understanding the terms  
 

20 a. sister chromatid, b. centrosome, c. spermatogenesis, d. apoptosis  

 

Thinking scientifically  
 

21 Both parents, because the egg had to be missing this chromosome and 
the sperm had to have two of this chromosome.  
 

22 As the somatic cell was adult, it had shortened telomeres and, as a 
consequence, the stem cells inherited by cloned Dolly were shortened too. 
Since the telomere length is related to cell ageing, cloned Dolly inherited 
the shortened life span of the adult donor, and all the cells derived from 
the adult somatic cell were old, thus being born old and dying early, 
unlike in traditional reproduction.  
 

23 a. The fetus has Turner syndrome since one of the sex chromosome, X 
chromosome, is missing.  
b. Female X0  
c. Nondisjunction during meiosis I with the consequent production of a 0 
gamete joined with a normal X gamete. 
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CAPITOLO A7  
Verifica le tue conoscenze  
1 c  
2 d  
3 c  
4 b  
5 a 
6 

 
 
7 d  
8 d  
9 a  
10 c  
11 b  

 

Verifica le tue abilità 
Metti a fuoco il concetto 

12 Il modello dell’ereditarietà per mescolanza di caratteri non genera nessuna 
variazione. Mentre la legge di Mendel conferisce variazioni tra i risultati.  

 
13 Consiglierei l’analisi delle cellule uovo perché l’uovo non è fecondato a 

meno che non sia normale. 
 
14 Albero genealogico: 
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Probabilità malato: ¼ o 25% 
Probabilità portatore sano: ½ o 50% 

 

Acquisisci i termini  
 
15 a. mescolanza dei caratteri, b. linee pure, c. incroci monoibridi, d. incroci 

diibridi, e. omozigote/eterozigote  

 

Understanding the terms  
 
16 a. recessive, b. allele, c. dominant, d. testcross  

 

Thinking scientifically  
 

17 Cross it now with a fly that lacks the characteristic. Most likely, the fly is 
heterozygous and only a single autosomal mutation has occurred. 
Therefore, the cross will be Aa x aa with 1:1 results. If the characteristic 
disappears in males, cross two F1 flies to see if it reappears; it could be 
X-linked.  
 

18 Give plants with a particular leaf pattern different amounts of fertilizer 
from none (your control) to over-enriched, and observe the results. Keep 
other conditions, such as amount of water, the same for all.  

 
19 Smooth and long traits are dominant over the others; the traits are 

associated with the same chromosome and the recombinant phenotypes 
are determined by crossing over. 
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CAPITOLO A8  
Verifica le tue conoscenze  
1 b  
2 b  
3 c  
4 d  
5 b 
6 

 
 
7 d  
8 c  
9 a  
10 d  
11 b 
 

Verifica le tue abilità 
Metti a fuoco il concetto 
 
12 Né la presenza di mutazioni, né il cambio delle condizioni ambientali sono 

noti in anticipo. 
 
13 In una o più popolazione le giraffe presentavano colli di diversa lunghezza, 

quelle con il collo più lungo potevano cibarsi anche delle foglie degli alberi 
ed erano quindi avvantaggiate, rispetto alle altre, in casi di scarsità di 
erba o in presenza di altri animali che erano in competizione per essa. 
Quelle con il collo lungo avevano quindi maggiori possibilità di arrivare 
all’età riproduttiva e di generare prole a loro simile. 

 
14 In rocce antiche si trovano organismi non presenti attualmente.  

Più le rocce, che li contengono, sono antiche, più gli organismi sono 
diversi dagli attuali e più appaiono semplici nelle forme.  
Dai fossili è talvolta possibile risalire alla storia evolutiva di determinati 
gruppi di organismi, osservando eventuali modificazioni apparse 
gradualmente. 

 
15 Fissismo: tutti gli esseri viventi sono immutabili nel tempo e uguali al 

momento della loro comparsa sulla Terra. 
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Creazionismo: gli esseri viventi sono stati creati da “un’entità suprema”. 
 
16 Essendo le piante tutte uguali fra loro, non ci saranno individui più 

avvantaggiati di altri in caso di avversità legate a particolari condizioni 
climatiche e/o malattie.  

 

Acquisisci i termini  
 

17 a. selezione naturale, b. fossile di transizione, c. struttura vestigiale, d. 
omologie, e. analogie  

 

Understanding the terms  
 
18 a. artificial selection, b. evolution, c. biogeography, d. paleontology, e. 

sexual selection  

 

Thinking scientifically  
 

19 Yes; due to natural selection of boll weevils resistant to the insecticide.  
 

20 a. Yes, it does. Dark skin allows a better protection from the intense 
radiations in Africa.  
b. Very light skin allows a better absorption of Sun heat in colder climates. 
 

21 No, because the hypothesis can’t be tested by experiments, tests, 
observations or data collections.  
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CAPITOLO A9  
Verifica le tue conoscenze  
1 d  
2 a  
3 d  
4 b  
5 d  
6 b 
7 

 
 
8 c  
9 b  
10 d  
11 b  
12 d  
13 b  
14 c 

 

Verifica le tue abilità 
Metti a fuoco il concetto 
 
15 I domini si distinguono tra loro per differenze genetiche, e quindi 

biochimiche, fondamentali, che sottolineano la comune origine filogenetica 
dei taxa che a loro volta contengono.  

 
16 Perché non è detto che strutture simili dal punto di vista anatomico siano 

geneticamente determinate nello stesso modo, ma possono essere il 
frutto dell’evoluzione indipendente per adattamento a certe 
caratteristiche.  

 
17 a. Paramecium aurelia: eucarioti, unicellulari (a volte, coloniali o 

pluricellulari), autotrofi o eterotrofi  
b. Quercus robur: eucarioti, pluricellulari, fotosintetici  
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c. Echinaster sepositus: pluricellulari, eterotrofi  
 
18 Secondo caratteristiche biochimiche e, oggi, anche grazie al 

sequenziamento degli acidi nucleici. 
 

Acquisisci i termini  
 
19 a. endospora, b. archei, c. chemiosintetici, d. anaerobici, e. anaerobi 

facoltativi, f. antibiotico, g. esotossine 

Understanding the terms  
 
20 a. phylogenetic tree, b. taxon, c. clade, d. bacteriophages, e. 

cyanobacteria 
 

Thinking scientifically  
 
21 The tree shows that all life forms have a common source and how they 

are related, despite the occurrence of divergence, which gives rise to 
different groups of organisms.  

 
22 Viruses replicate inside human cells, and therefore, medications aimed at 

a virus can interfere with the workings of human cells.  
 
23 a. 2500 UFC/ml 

b. Because in the first and in the second tests, the amount of bacteria is 
too high and it is not possible to count the number of colonies. 
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CAPITOLO A10  
Verifica le tue conoscenze  
1 d  
2 b  
3 b  
4 d  
5 a  
6 b  
7 c 
8  

 
 
9 a  
10 d  
11 b  
12 d  
13 a  
14 d  
15 d 
 

Verifica le tue abilità 
Metti a fuoco il concetto 
 
16 1) per mezzo di ciglia: ciliati  

2) pseudopodi: ameboidi, foraminiferi, radiolari  
3) flagelli: zooflagellati, euglenoidi, dinoflagellati  

 
17 Le piante più alte hanno un miglior accesso alla luce solare.  
 
18 Il polline ha minor probabilità di esser spostato da un cono pollinico di una 

stessa pianta.  
 
19 Perché le foglie sono la sede della produzione di zuccheri per fotosintesi, 

perciò hanno, da una parte necessità di ricevere acqua e minerali dal 
terreno, dall’altra il resto della pianta necessita degli zuccheri che esse 
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producono.  
 
20 Perché i funghi micorrizici aumentano ampiamente la superficie di 

assorbimento delle radici. 
 

Acquisisci i termini  
 
21 a. zooplancton, b. micorrizici, c. monocotiledoni, d. gimnosperme, e. 

carpello, f. stame 
 

Understanding the terms  
 
22 a. pseudopod, b. mycelium, c. sporophyte, d. gymnosperm, e. cotiledon 
 

Thinking scientifically  
 
23 If single cells do not separate, and if each cell divides in a way that allows 

the cells to join end on end, the end result could be a filament.  
 
24 Only group (b) because mosses require a film of moisture in order for 

flagellated sperm to swim to an egg.  
 
25 When male moths attempt to mate with these flowers, they carry pollen 

only between flowers of this type.  
 
26 The glucose was absorbed by the fungus which lived in mutual symbiosis 

with the plant. 
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CAPITOLO A11  
Verifica le tue conoscenze  
1 a  
2 b  
3 a  
4 d  
5 d  
6 b  
7 a 
8 

 
 
9 d  
10 d  
11 c  
12 c  
13 d  
14 a  
15 b  
 

Verifica le tue abilità 
Metti a fuoco il concetto 
 
16 L’esoscheletro fornisce una protezione integrale al corpo, mentre 

l’endoscheletro lascia vulnerabili alcune parti. D’altra parte, l’esoscheletro 
non può accrescersi insieme all’animale, quindi va rinnovato 
periodicamente con notevole dispendio energetico e con corrispondenti 
periodi di vulnerabilità, mentre l’endoscheletro si accersce con l’animale 
ed è sempre funzionale.  

 
17 Gli animali sono favoriti nell’esplorazione dell’ambiente (ricerca del cibo, 

difesa dai predatori, ecc.).  
 
18 Perché conferisce maggiore libertà nei movimenti (la parete del corpo può 

muoversi indipendentemente dagli organi interni) e fornisce uno spazio 
dove gli organi interni possono organizzarsi e ampliarsi. 

 
19 Il problema maggiore ha riguardato il passaggio dalla respirazione 

branchiale (estrazione di ossigeno dall’acqua) a quella polmonare 
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(estrazione di ossigeno dall’aria). Un altro passaggio fondamentale è stato 
l’affrancamento dall’acqua per la riproduzione, con la comparsa dell’uovo 
amniotico. 

 
20 Perché nello stadio giovanile hanno le branchie, mentre da adulti possono 

respirare anche fuori dall’acqua. 
 
21 Ossa pneumatiche molto leggere, sacchi aerei con flusso dell’aria 

unidirezionale, sterno carenato per attacco dei grossi muscoli alari; 
rivestimento di penne/piume. Esempi di uccelli non volatori con altri 
adattamenti: gli struzzi (ma anche emù, nandù, casuari) sono diventati 
uccelli corridori di grosse dimensioni; i pinguini usano le ali come pinne 
per un nuoto molto efficiente.  

 

Acquisisci i termini  
 
22 a. larva, b. bilaterale, c. protostomi, d. deuterostomi, e. spugne (poriferi), 

f. amniotico  

 

Understanding the terms  
 
23 a. nephridia, b. chitin, c. monotreme, d. nothocord, e. coelomate  

 

Thinking scientifically  
 
24 Study whole sponges and determine how they acquire food, whether they 

move, how they reproduce, and what developmental stages they have. 
Microscopically, determine the structure and function of their cells.  
 

25 DNA/RNA sequencing; Fossil record and homologies in anatomy and 
development.  

 
26 No, the cordate, which include bats, have not changed their position in the 

new tree. 
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CAPITOLO A12  
Verifica le tue conoscenze  
1 d  
2 d  
3 b  
4 c  
5 b  
6 d 
7 

 
 
8 a  
9 d  
10 d  
11 d  
12 b  
13 c  
 

Verifica le tue abilità 
Metti a fuoco il concetto 
 
14 L’aria calda dall’Equatore si muove verso i Poli.  
 
15 I decompositori consumano tutto l’ossigeno disponibile, non lasciandone 

per i pesci  
 
16 Il livello del mare sarebbe troppo basso per le zone umide che 

scomparirebbero, mentre quelle di nuova formazione non potrebbero 
svilupparsi verso l’interno a causa dello sviluppo costiero delle regioni 
costiere.  

 
17 Riduzione della superficie fogliare traspirante con trasformazione delle 

foglie in spine e fusti che diventano fotosintetici; ridotto sviluppo in 
altezza; radici che cercano di svilupparsi anche in profondità alla ricerca di 
acqua. Crescono distanziate per limitare al minimo la competizione per 
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l’acqua.  
 
18 A livello dell’Equatore si ha la massima insolazione annua con forte 

evaporazione; l’aria calda tende a risalire formando forti correnti 
ascensionali che determinano lo sviluppo di nubi cumuliformi che danno 
luogo a precipitazioni temporalesche.  

 
19 Perché le condizioni meteorologiche sono soggette a variazioni regolari 

legate alla stagionalità, ma accompagnate da altre irregolari e non sempre 
prevedibili. Il clima è quindi la media delle condizioni meteorologiche 
misurate su un periodo sufficientemente lungo. 

	
  

Acquisisci i termini  
 
20 a. lato sopravento, b. zona eufotica, c. chemiosintesi, d. prateria a erbe 

basse, e. zona intertidale, f. foresta montana di conifere  
 

Understanding the terms  
 
21 a. taiga, b. savanna, c. eutrophication, d. epiphyte, e. estuary  
 

Thinking scientifically  
 
22 You will be able to see if a rising temperature affects the distribution of 

biomes in the biosphere.  
 
23 Coral houses microscopic algae and if the dirty water blots out the sun, 

the algae will die.  
 
24 In time tributary rivers bring sediments and nutrients; the number of 

organisms rises, O2 request grows, the water becomes less transparent 
and the lake starts silting up. The lake becomes eutrophic and then a 
marsh.  

 
25 Without the protection of trees, the fertile layer is washed away by strong 

precipitations, dried by sunshine and in a short time the soil becomes 
infertile.  

 
26 When sea organisms die, their remains sink to the ocean floor and their 

skeletons, shells, etc. form sediment layers which we can analyze. The 
layers describe what kind of climate was present in a certain period.  

 
27 Because gases, e.g. oxygen, are more soluble in cold water than in warm 

water; in cold water there are more phytoplancton and therefore also 
more organisms of the food chains based on it. 
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PARTE B 

CAPITOLO B1  
Verifica le tue conoscenze  
1 c  
2 a 
3 c  
4 c  
5 a  
6 d  
7 b 
8 

 
9 a  
10 c  
11 b  
12 a  
13 c  
14 d  
15 c 
 
Verifica le tue abilità 
Metti a fuoco il concetto 
 
16 

    
L’ATP partecipa alla riduzione del CO2 in carboidrati “raccogliendo” a 
piccole dosi l’energia che viene liberata.  

 
17 Soltanto le piante producono cibo sotto forma di molecole organiche e se 

gli animali si cibassero esclusivamente di altri animali il cibo si esaurirebbe 
rapidamente. 

 
 
18 
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19 I cloroplasti e i mitocondri in origine erano procarioti a vita libera, poi 
acquisiti per endosimbiosi dalle cellule eucariotiche. Questi procarioti 
derivano da un antenato comune, che già doveva possedere una catena di 
trasporto degli elettroni.  

 
20 La forma di energia coinvolta nella fotosintesi, l’energia solare, viene 

immagazzinata nelle molecole di carboidrati, divenendo energia chimica 
che, durante la respirazione cellulare, viene ceduta in piccole dosi all’ATP. 
Nella fotosintesi si parte da molecole semplici, acqua e diossido di 
carbonio, e si ha come sottoprodotto l’ossigeno; al contrario, la 
respirazione cellulare degrada molecole complesse come i carboidrati, 
l’ossigeno viene usato e lo scarto è composto di acqua e diossido di 
carbonio. 

 

	
  Acquisisci i termini 

  
21 a. Catena di trasporto degli elettroni, b. Ciclo di Calvin, c. Chemiosmosi, d. 

Debito di ossigeno, e. Fermentazione lattica  

 

Understanding the terms 

  
22 a. Light reactions, b. Photosynthesys, c. Glycoysis  

 

Thinking scientifically  
 
23 Using the same sample of elodea in the same baker will control most 

factors, except temperature, which should remain constant. For a control, 
do the same experiment without elodea.  

 
24 Photosynthesys takes place in leaf cells, showing that cells, and not 

organs, are the basic units of a plant.  
 
25 The solution must be acid, beacause for ATP to be produced, H+ must flow 

trough the ATP synthase comples.  
 
26 a. The CO2 produced by the combustion of the methane obtained in such a 

way allows to balance the quantity of the carbon dioxide released in the 
atmosphere: in fact the CO2 produced by the biogas combustion is the 
same as the one absorbed by plants, unlike the CO2 given off anew by the 
combustion of fossil fuels. It prevents the methane produced naturally 
during the decomposition of organic wastes from diffusing in the 
atmosphere. It produces methane either for heating or electric power. It 
reduces environmental pollution due to waste dumps or incinerators.  

 b. Land areas characterised by intensive livestock-breeding and piggeries; 
an intensive agriculture. 
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CAPITOLO B2  
Verifica le tue conoscenze  
1 b  
2 c  
3 d  
4 d  
5 c  
6 b  
7 Watson e Crick/Struttura tridimensionale del DNA; McClintock/Trasposoni; 

Griffith/ DNA come principio trasformante; Hershey e Chase/DNA come 
materiale genetico  

8 a  
9 c  
10 b  
11 d  
12 a  
13 a  
 
Verifica le tue abilità 
Metti a fuoco il concetto 
 
14 Un cambiamento da ATG ad ATA non avrà effetto, poiché entrambi i 

codoni risultanti codificano per l’amminoacido tirosina.  
 
15 a) ACU CCU GAA UGC AAA  

b) UGA GGA CUU ACG UUU  
c) treonina-prolina-glutammato-cisteina-lisina 
 

Acquisisci i termini 
 

16 a. batteriofagi (o fagi), b. uracile, c. telomeri, d. esoni, e. germinali, f. 
somatiche  

Understanding the terms 
 

17 a. RNA polymerase, b. Intron, c. Translation, d. Polyribosome  

 

Thinking scientifically  
 

18 Determine if any transposon base sequence occours in the sequence for 
the neurofibromatosis gene.  
 

19 Using tissue culture and DNA technology, place the gene in Arabidopsis 
cells and look for the mutation in cloned adult plants.  

 
20 E. coli can divide itself very quickly. 
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CAPITOLO B3  
Verifica le tue conoscenze  
1 b  
2 b  
3 c  
4 b  
5 c  
6 a 
7 

 
 
8 b  
9 d  
10 c  
11 c  
12 b  
13 d 
 
Verifica le tue abilità 
Metti a fuoco il concetto 
 
14 Negli eucarioti l’espressione genica è regolata da un controllo su più livelli 

in modo da poter dosare correttamente qualità e quantità delle proteine 
ottenibili dai geni in questione.  

 
15 a. DNA, b. Gene regolatore, c. Promotore, d. Operatore 
 
 

Acquisisci i termini 
 
16 a. riproduttiva, b. corpo di Barr, c. splicing, d. proteasomi, e. omeotici  
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Understanding the terms 
 
17 a. Post-transcriptional control, b. Euchromatin, c. Totipotency, d. Histone  
 

Thinking scientifically  
 
18 You should also show that the genes lead to similar developmental stages. 
 
19 Women who have a tetrachromatic vision might have a specific gene 

linked to the X chromosome, and if also men have this kind of vision it 
could mean that the gene is a dominant one. 
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CAPITOLO B4  
Verifica le tue conoscenze  
1 c  
2 d  
3 b  
4 c  
5 b 
6 

 
 
7 b  
8 b  
9 c  
10 b  
11 b 
 
Verifica le tue abilità 
Metti a fuoco il concetto 
 
12 c. + e. cambiamenti genetici, b. barriera geografica, a. specie 1, d. specie 

2, f. specie 3 
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Acquisisci i termini 
 
13 a. pool genico, b. selezione divergente, c. allopatrica, d. degli equilibri 

intermittenti, e. poliploidia 
 

Understanding the terms 
 
14 a. gene flow, b. postzygotic isolating mechanism, c. adaptive radiation, d. 

speciation, e. allopatric speciation 
 

Thinking scientifically  
 
15 Yes, evolution occurred: generation after generation, the few boll weevils 

that survived passed their resistance genes to the offspring, so the 
pesticide is no more effective.  

 
16 Their chromosomes are compatible, and the two species are very closely 

related. It’s doubtful they should be considered different species.  
 
17 The North American snow goose is probably going to become two different 

species (or subspecies): the blue one and the white one. If 75% of all 
mated pairs consists of two individuals of the same color, there would 
probably be a hybrid zone; if 100% of pairs were the same color, 
speciation would be complete. 
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CAPITOLO B5  
Verifica le tue conoscenze  
1 a  
2 c  
3 b  
4 b  
5 b  
6 b 
7 

 
 
8 c  
9 b  
10 d  
11 a, c  
12 b  
13 d  
14 c 
 
Verifica le tue abilità 
Metti a fuoco il concetto 
 
15 Vedi Figura 5.8B a pagina 328. 
 
Acquisisci i termini 
 
16 a. prensile, b. evoluzione a mosaico, c. bipedismo, d. australopitecine, e. 

binoculare, f. ominoidei, g. cacciatori-raccoglitori 
 

Understanding the terms 
 
17 a. anthropoid, b. Cro-Magnon, c. Homo ergaster, d. hominoid 
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Thinking scientifically  
 
18 The benefit of bipedalism must have outweighted teh cost or else 

bipedalism would’t have evolved.  
 
19 Sequence the Neanderthal genome using DNA from Neanderthal bones, 

and compare the sequence to the human genome of today. Look for 
sequence present in both genomes.  

 
20 Genetic variation among individuals of the same ethnic group is greater 

than variations between ethnic groups. This means that all human beings 
are part of the same species. 
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PARTE C 

CAPITOLO C1  
Verifica le tue conoscenze  
1 c  
2 a  
3 d  
4 d  
5 d  
6 a  
7 b 
8 

 
 
9 d  
10 a  
11 b  
12 d  
13 d  
14 a  
15 b 
 
Verifica le tue abilità 
Metti a fuoco il concetto 
  
16 I dendriti offrono un’ampia superficie adatta alla ricezione degli stimoli, 

mentre l’assone, per la sua forma allungata, è adatto per la trasmissione a 
distanza degli stimoli. 

17 Le cellule epiteliali sono particolarmente esposte ai mutageni ambientali 
(agenti che causano mutazioni). Inoltre, l’elevato tasso di divisione 
cellulare che le contraddistingue è associato a una maggiore probabilità di 
sviluppare mutazioni che portano al cancro. 
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18 Posso aspettarmi che sia il sistema cardiovascolare ad avere una pompa 
(il cuore) perché il sangue possa raggiungere tutte le cellule scorrendo nei 
vasi sanguigni. 

19 La caratteristica tipica di tutti i connettivi è la presenza di una copiosa 
matrice extracellulare. È proprio questa che determina in buona misura le 
proprietà del tessuto, quanto meno per quello che concerne lo stato fisico, 
la consistenza, l’elasticità. 

 
20 Un sistema a feedback negativo deve contenere un sensore, una 

connessione e un effettore di risposta. Nell’esempio richiesto, il cibo salato 
aumenta la concentrazione di ioni nell’organismo, il che stimola 
l’assunzione dell’acqua, attraverso un meccanismo di rilevazione della 
concentrazione e la trasmissione dell’impulso nervoso al centro cerebrale 
interessato. La persona beve finché la rilevazione della concentrazione non 
attesta che essa è tornata entro i limiti fisiologici. 

 
Acquisisci i termini 

 
21 a. sistema endocrino, b. tessuto adiposo, c. nevroglia, d. sistema 

tegumentario, e. vasocostrizione, f. sensore  
	
  
Understanding the terms 
 
22 a. ligament, b. epidermis, c. striated, d. homeostasis 
 

Thinking scientifically 
 

23 Examine the tissue visually, trying to determine the particular organ 
before preparing the microscope slides in the same manne ras koown 
tissue slide from AIDS patient. Compare the appearance of the two sets of 
slides to properly match the unknown with the known tissue.  
 

24 Test two large groups: (1) People who visit tanning salons, says two or 
more times a week. (2) People who nevere visit tanning salons. Find out 
how many people in each group have been treated for skin cencer and 
compare the percentages and determine if the difference is significant.  
 

25 The nervous system detects low skin temperature and an autonomous 
response stimulates contraction of the muscles associated with body hair, 
which generates heat. This effect is detected by the nervous system and 
triggers a feedback mechanism.  

 
26 The nervous system stimulates responses necessary to control the rise in 

body temperature due to infection. Peripheral vasodilation increases 
cutaneous blood flow, favoring the loss of heat; shivering favors this 
process. The control center registers that body temperature is still above 
the set point and continues to stimulate the response. Administration of 
an antipyretic reduces the body’s response to the infection, lowering body 
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temperature and bringing it nearer to the set point so that the symptoms 
related to fever are also alleviated. 

 
27 Examining a tissue sample histologically can reveal the presence of 

morphologically abnormal cells and help to diagnose the tumor. The 
abnormality of these cells would interfere with normal skin functions, and 
manifest itself as a skin lesion, which could facilitate infection of the skin.  

 
28 The symptoms concern functions that appear to be unrelated and involve 

the whole body. Therefore a problem in the nervous or endocrine system 
could be considered. A disorder of the hypothalamus and/or pituitary 
gland could explain these symptoms. 
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CAPITOLO C2  
Verifica le tue conoscenze  
1 d  
2 d  
3 c  
4 b  
5 a  
6 b 
7 

 
 
8 c  
9 b  
10 a  
11 c  
12 d  
13 d 
 
Verifica le tue abilità 
Metti a fuoco il concetto 
 
14 Nuovi caratteri spesso emergono da modificazioni di caratteri evolutisi in 

precedenza, cosicché l’evoluzione potrebbe aver «sfruttato» una 
differenza di potenziale già presente tra i due lati della membrana delle 
cellule trovando una funzione del tutto nuova, quella di trasmettere 
impulsi nervosi.  

 
15 L’apprendimento richiede la formazione di nuove associazioni, fatto che 

nel cervello corrisponde alla formazione di nuove sinapsi.  
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16 Il cervello è la struttura cerebrale che si forma a partire dal telencefalo, 
vale a dire la porzione evolutivamente più recente del proencefalo, che 
comprende anche talamo e ipotalamo. Dell’encefalo fanno inoltre parte il 
romboencefalo e il mesencefalo. Il cervello è sviluppato soprattutto tra i 
mammiferi e la sua funzione è di integrazione degli input e di supporto per 
le funzioni mentali superiori, mentre le restanti parti dell’encefalo sono 
legate alle funzioni vegetative. 

 
17 Muzio Scevola deve aver bloccato l’arco riflesso che, rilevato il dolore da 

ustione, l’avrebbe portato a ritrarre il braccio. Ciò è possibile perché lo 
stimolo che scatena l’arco riflesso è condotto anche al cervello e questo è 
in grado di esercitare un controllo sul riflesso istintivo, guidato dalla 
volontà. 

 

Acquisisci i termini  
 

18 a. sistema nervoso periferico, b. neuroni efferenti, c. ripolarizzazione, d. 
conduzione saltatoria, e. corpo calloso, f. integrazione  

 

Understanding the terms  
 
19 a. reflex, b. neurotransmitter, c. autonomic system, d. ganglion, e. 

cerebrum 
 

Thinking scientifically  
 
20 Administer a medication that interferes with the reception of 

norepinephrine at a synapse. The patient may not respon properly to a 
real danger.  

 
21 Severed sensory neurons are still releasing neurotransmitter in the spinal 

cord, resulting in messages to the brain that are interpreted as pain in the 
limb.  

 
22 The axon’s response to the stimuli is due to the fact that the potassium 

concentration inside the cell is much higher than that of the extracellular 
fluid, and vice versa for sodium. Therefore, injecting sodium into the axon 
tends to reduce the differences and diminish the response, while 
increasing intracellular potassium increases the response.  

 
23 The recovery of endorphins limits their action over time; therefore a drug 

that inhibits this process makes the effect of the endorphins longer-lasting 
and more intense. Drugs that have this effect could be used as painkillers 
or antidepressants.  

 
24 A sudden state of alarm stimulates the body’s “fight or flight” response, 

activating the sympathetic division which releases norepinephrine. 



Sylvia S. Mader Immagini e concetti della biologia © Zanichelli 2014 

CAPITOLO C3  
Verifica le tue conoscenze  
1 b  
2 c  
3 a  
4 d  
5 c  
6 c  
7 c 
8 

 
 
9 b  
10 d  
11 d  
12 c  
13 a  
14 a  
15 c 
 
Verifica le tue abilità 
Metti a fuoco il concetto 
 
16 Per produrre una sensazione che riguardi il mondo che ci circonda, il 

cervello deve ricevere degli input in arrivo dai recettori sensoriali.  
 
17 Con la chirurgia tradizionale il cristallino viene sostituito con una lente 

artificiale, mentre con la chirurgia refrattiva si modifica la forma della 
cornea.  

 
18 Le stelle più fievoli non riescono a attivare la risposta dei coni, che hanno 

una soglia di attivazione più elevata dei bastoncelli, e sono quindi visibili 
solo grazie a questi ultimi. La porzione della fovea, tuttavia, è 
particolarmente ricca di coni e, quindi, una luce molto debole si può 
percepire meglio se non vi si punta direttamente lo sguardo. 

 
19 Il senso dell’equilibrio si trova nell’orecchio interno e comprende due 

sistemi distinti, anche se connessi: l’equilibrio rotazionale e quello 
gravitazionale. Il primo è garantito dai canali semicircolari, che, essendo 
tre, consentono di ottenere informazioni sul moto in tutte le dimensioni 
spaziali. Il secondo è consentito invece dal sacculo e dall’utricolo, il cui 
rivestimento ciliato e le cui otoliti consentono di ottenere informazioni 
sulla direzione del basso. 
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Acquisisci i termini  
 
20 a. chemiocettori, b. adattamento sensoriale, c. gemme gustative, d. 

accomodazione visiva, e. organo del Corti 
 

Understanding the terms  
 
21 a. retina, b. sclera, c. chemoreceptor, d. organ of Corti, e. lateral line 
 

Thinking scientifically  
 
22 One possible answer: the size of auditory cortex is larger in those who 

have perfect pitch. Test the pitch ability of subjects, and then stimulate 
the brain directly to determine the size of the auditory cortex.  
 

23 This kind of surgery only corrects the shape of the cornea in order to 
achieve 10/10 vision.  

 
24 The experiment could have two groups of reptiles in cages kept under the 

same conditions. Food could be provided to the first group, the control 
group, in a corner of the cage without any thermal stimulus; and to the 
second group near a heat source (of variable size and dimensions) to 
study the difference in behavior between the two groups.  

 
25 To start with the external auditory canal can be observed: an obstruction 

could cause deafness. The integrity of the tympanic membrane should 
also be checked. A more thorough examination could reveal whether the 
bones of the middle ear function correctly. Finally, a defect in the inner 
ear, for example a lesion of the cochlea, can also cause deafness. 
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CAPITOLO C4 
Verifica le tue conoscenze  
1 c  
2 d  
3 b  
4 c  
5 c  
6 c 
7 

 
 
8 b  
9 b  
10 b  
11 a  
12 c  
13 b  
14 a 
 
Verifica le tue abilità 
Metti a fuoco il concetto 
 
15 Il cinto pelvico risulta troppo stretto per poter procedere a un parto 

naturale.  
 
16 Se le teste di miosina non fossero agganciate all’actina, l’actina non 

sarebbe in grado di provocare il movimento dei filamenti di actina che 
fanno accorciare il sarcomero.  

 
17 La vista binoculare sembra essere stato uno dei fattori determinanti 

nell’evoluzione della specie umana, quando gli ominidi sono passati dalla 
vita arboricola a quella terricola, dunque un controllo più fine dei 
movimenti oculari potrebbe aver costituito un vantaggio evolutivo. 

 

Acquisisci i termini  
 
18 a. scheletro assile, b. tetano, c. giunzione neuromuscolare 
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Understanding the terms  
 
19 a. actin, b. appendicular skeleton, c. sliding filament model, d. pectoral 

girdle 
 

Thinking scientifically  
 
21 Acquire two test groups: aerobic instructors and sedentary people. 

Oxygen tanks supply their only air, while they are running on a tread mill. 
Those who routinaly exercise have more mitochondria than those who do 
not exercise, accounting for why the first group uses less oxygenn and 
has less lactate in their blood.  
 

22 You should use: striated muscular tissue, calcium ions and ATP.  
 

23 Remove muscle tissue from a corpse in rigor mortis, since it thin. While 
watching under the microscope, flood your slide with ATP and necessary 
ions to see if muscle contraction occours.  
 

24 There are various factors that can favor increase in the mass of bone 
tissue. Constant, sustained physical activity stimulates bone growth, as 
does an adequate supply and adequate absorption of calcium from food. 
Lack of physical exercise and calcium in the blood on the other hand lead 
to a reduction in bone mass.  

 
25 Humans have two types of muscle fibers: fast twitch, low in hemoglobin 

and mitochondria, which work in an explosive way for short periods of 
time, and slow twitch, rich in blood vessels and mitochondria, which work 
aerobically for long periods of time but have a long activation period. The 
400 meter sprint is too much for the former and too little for the latter, so 
athletes must try to achieve the right balance between the two types of 
muscle fibers in order to obtain the best performance. 
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CAPITOLO C5  
Verifica le tue conoscenze  
1 d  
2 b  
3 a  
4 d  
5 c  
6 c 
7 

 
 
8 b  
9 d  
10 d  
11 d  
12 b  
13 a 
 
Verifica le tue abilità 
Metti a fuoco il concetto 
 
14 L’eritropoietina aumenta il numero di globuli rossi, mentre il problema di 

Rita è una carenza di ferro nella dieta. Il medico dovrebbe consigliarle un 
aumento degli alimenti contenenti ferro assimilabile nella sua dieta e, in 
emergenza, una cura di integratori di ferro.  

 
15 L’emoglobina che si lega all’ossigeno assume un colore spiccatamente 

rosso, dovuto alla presenza di uno ione ferro al suo interno; pertanto il 
sangue ossigenato appare rosso vivo e di questo colore sono rappresentati 
tutti i vasi che portano questo tipo di sangue. Quando l’ossiemoglobina 
scarseggia, invece, il colore del sangue vira verso il bluastro tipo delle 
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vene nella circolazione somatica e delle arterie in quella polmonare.  
 
16 Il reflusso del sangue lungo le vene è ostacolato dalla presenza delle 

valvole, che cedono facilmente al flusso in una direzione, ma non in quella 
opposta. Inoltre i movimenti corporei, con le contrazioni e i rilassamenti 
muscolari che comportano, favoriscono il corretto flusso del sangue. 

 

Acquisisci i termini  
 
17 a. valvole atrioventricolari, b. valvole semilunari, c. sistole/diastole, d. 

liquido interstiziale, e. agglutinazione 
 

Understanding the terms  
 
18 a. artery, b. plasma, c. vena cava, d. haemoglobin, e. lymph 
 

Thinking scientifically  
 

19 There is not a simple foolproof method to distinguish venous blood from 
arterial blood, apart from specifying that this refers to the systemic 
circulation in which case the concentrations of O2 and CO2 are the most 
obvious indicators.  
 

20 Also in this case variations in O2 and CO2 are the most significant data, 
due to the fast turnover of these substances. Other substances may vary, 
but more slowly.  
 

21 Arteries have a much more developed muscular layer, veins have 
characteristic valves.  

 
22 Caffeine is a stimulant which increases the heart rate. Epinephrine 

secreted by the adrenal glands in conditions of stress, and physical 
exercise due to the race have the same effect. These three factors added 
together increase blood pressure.  

 
23 Infarction causes a lesion in the myocardium, making the heart work 

harder. An anticoagulant can increase the fluidity of the blood, reducing 
the activity of the cardiac muscle. Stroke leads to brain dysfunction due to 
a shortage of blood; as brain cells die very quickly without blood the rapid 
administration of an anticoagulant can be essential to eliminate the 
obstruction blocking the circulation and restore the oxygen supply to the 
brain. 
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CAPITOLO C6  
Verifica le tue conoscenze  
1 a  
2 b  
3 d  
4 b  
5 b  
6 d  
7 d 
8 

 
 
9 a  
10 c  
11 d  
12 a  
13 a  
14 a  
15 b  

 
Verifica le tue abilità 
Metti a fuoco il concetto 
 
16 In effetti, il sistema linfatico raccoglie l’eccesso di liquido interstiziale a 

livello dei capillari sanguigni e lo convoglia alla vena succlavia, perciò si 
serve del sistema cardiovascolare per creare comunque un circuito.  

 
17 L’aumento localizzato della temperatura crea un ambiente sfavorevole alla 

sopravvivenza degli agenti patogeni e può stimolare il lavoro del sistema 
immunitario.  

 
18 Il fatto che i linfociti B si trovino nei fluidi corporei rende più facile il loro 

spostamento all’interno dell’organismo e il raggiungimento di qualunque 
suo punto o quasi. 

 
19 I disturbi causati dall’allergia sono legati primariamente alla produzione di 

istamina da parte dell’istamina. Questa molecola si lega all’allergene in 
questione, per esempio ai granuli di un dato polline, e stimola la risposta 
dell’organismo alla loro presenza. Nel caso di una rinite allergica, lo 
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stimolo è a carico delle mucose nasali. Gli antistaminici competono con 
l’istamina per i siti specifici sulle cellule del tessuto in questione, 
nell’esempio quindi la mucosa nasale, ma in realtà la risposta allergica è 
più complessa ed è mediata anche da altre molecole, sulle quali questi 
farmaci non hanno alcun effetto.  

 

Acquisisci i termini  
 

20 a. midollo osseo rosso, b. cellule natural killer, c. risposta infiammatoria, 
d. vaccino, e. anticorpi (o immunoglobuline)  

 

Understanding the terms  
 

21 a. vaccine, b. lymph, c. antigen  

 

Thinking scientifically  
 

22 Hypoteshis: each type of antibody is coded for by a different sequence of 
exons from the same gene or genes.  

 
23 Control group receives vaccines and pathogens for same. Test group 

receives drug plus vaccine and pathogens for same. Observe whether the 
control group of test groups became ill. 

 
24 The specific immune response has not been adequately activated. Cancer 

cells exhibit recognizable non-self antigens which should stimulate the 
humoral as well as the cellular response, leading to the production of 
specific antibodies and cytotoxic C lymphocytes.  

 
25 Children’s’ tonsils are often inflamed because they constitute a first line of 

defense against infections of the respiratory tract. For this reason, when 
possible, it is best to avoid having them removed.  

 
26 In some cases the vaccine consists of an attenuated form of the pathogen 

capable of stimulating an immune response, but which is not virulent 
enough to threaten the health of the patient. In this case the body 
responds in a similar way to the vaccine as to the pathogen, producing the 
same symptoms and specific antibodies. On exposure to the real pathogen 
the body’s specific response is fast and effective. 
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CAPITOLO C7  
Verifica le tue conoscenze  
1 d  
2 a  
3 d  
4 b  
5 d  
6 a  
7 c  
8 a 
9 

 
 
10 b  
11 b  
12 a  
13 b  
14 c  
15 c  
16 c  
17 d 
 
Verifica le tue abilità 
Metti a fuoco il concetto 
 
18 La sopravvivenza di un organismo animale è dovuta a una fonte di energia 

esterna che il sistema digerente è in grado di trasformare in una fonte di 
energia sfruttabile dalle cellule.  

 
19 Alcuni alimenti di origine vegetale contengono una buona dotazione di 

proteine che possono fornire tutti gli amminoacidi essenziali.  
 
20 I succhi gastrici hanno un pH molto basso; la mucosa gastrica è protetta 

dalla loro acidità grazie a particolari meccanismi chimici, che l’esofago non 
possiede. Pertanto i succhi gastrici causano dolore e irritazione che, a 
lungo andare, possono degenerare in lesioni a carico dell’organo.  

 
21 Anche prescindendo dalla violenta reazione immunitaria che ciò 

scatenerebbe, la questione è che le proteine sono digerite nello stomaco e 
nel duodeno e iniettandole nel sangue non potrebbero quindi essere 
idrolizzate. Né al nostro organismo possono servire le proteine 
dell’organismo di cui ci nutriamo, ciò di cui abbiamo necessità sono gli 
amminoacidi per sintetizzare le nostre proteine. 
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Acquisisci i termini  
 
22 a. piloro, b. meccanica, c. peristalsi, d. succhi gastrici, e. succo 

pancreatico, f. ghiandole salivari 
 

Understanding the terms  
 
23 a. vitamin, b. lacteal, c. esophagus, d. gallbladder, e. appendix 
 

Thinking scientifically  
 
24 You could use pepsin, HCl, a proteic substrate, and water. If you eliminate 

pepsin, and digestion still occurs, it would not be caused by this enzyme.  
 
25 Correlation studies, in any discipline, are meaningful whenever a control 

group is used and the experiments are conducted on a large number of 
subjects.  

 
26 The pylorus. In order to reach the pylorus the probe will pass: the mouth 

esophagus, cardia and stomach.  
 
27 Starch is not digested by the volunteers’ digestive system and 

accumulates in the undigested material present in the small and large 
intestines. Water is drawn into the intestines further increasing bulk which 
undergoes fermentation by the bacteria of the intestinal microflora, giving 
rise to the symptoms described. 

 
28 An immediate method could be to treat a whole piece of meat and a 

similar piece of meat which has been minced with enzymatic extracts. The 
latter will be digested much faster.  

 
29 Some bacteria, such as E. coli, are part of the normal intestinal microflora 

and contribute to the partial digestion of poorly digestible substances. 
Other bacteria are not normally present and can be an indication of 
disease. 
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CAPITOLO C8  
Verifica le tue conoscenze  
1 c  
2 d  
3 b  
4 d  
5 b  
6 c 
7 

 
 
8 d  
9 b  
10 b  
11 d  
12 a  
13 d  
14 d 
 
Verifica le tue abilità 
Metti a fuoco il concetto 
 
15 La forma dell’emoglobina cambia secondo le variazioni del pH da quasi 

neutro nei polmoni a leggermente acido nei tessuti; queste variazioni 
provocano il rilascio di ossigeno da parte della molecola di emoglobina.  

 
16 Il corpo possiede una capacità molto limitata di conservare ossigeno, 

perciò ha bisogno di respirare continuamente, ma ha una notevole 
capacità di immagazzinare energia, perciò può resistere molto più tempo 
senza mangiare.  

 
17 Si tratta delle sacche aerifere, che si dipartono dai polmoni e nelle quali 

questi animali possono immagazzinare aria.  
 
18 L’aria si umidifica grazie al contatto con le mucose che rivestono il nostro 

apparato respiratorio, che sono mantenute costantemente umide. Una 
temperatura molto alta favorisce, tuttavia, l’evaporazione dell’acqua e 
rende più difficile il mantenimento di una giusta umidità. Inoltre l’aria più 
calda richiede una quantità maggiore di vapore d’acqua per essere 
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adeguatamente umidificata. 
 

Acquisisci i termini  
 
19 a. respirazione esterna/respirazione esterna, b. respirazione cutanea, c. 

alveoli, d. gruppo eme, e. scambio controcorrente, f. centro respiratorio 
 

Understanding the terms  
 
20 a. ventilation, b. diaphragm, c. gills, d. expiration 
 

Thinking scientifically  
 
21 The problem comes from the fact that at high altitudes atmospheric 

pressure drops and therefore PO2 falls. Adaptation requires a response in 
terms of increased activity by the respiratory and circulatory systems.  

 
22 The drawing must contain: nose, pharynx, larynx, trachea, bronchus, 

bronchiole, lung, alveolus, capillary, plasma and erythrocyte.  
 
23 A more active body of the same dimensions needs a more efficient 

respiratory system. Shape is also important as a flatter body is 
oxygenated more easily by diffusion than a round one with the same 
mass. As structural complexity increases mass usually increases too and 
shape becomes less flat, therefore animals of the phyla characterized by 
greater complexity generally have more efficient respiratory systems. 
Finally, the aquatic environment favors the direct exchange between the 
body surface or a specialized organ (gills) and the surrounding medium, 
while in a subaerial environment the exchange surfaces must be protected 
from dehydration and are therefore located inside the body (lungs, 
trachea). 
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CAPITOLO C9  
Verifica le tue conoscenze  
1 a  
2 b  
3 b  
4 c  
5 c  
6 a 
7 d 
8 

 
 
9 d  
10 b  
11 a  
12 b  
13 d  
14 a 
15 c   
 
Verifica le tue abilità 
Metti a fuoco il concetto 
 
16 Queste cellule riassorbono gran parte del contenuto del nefrone, perciò 

necessitano di una grande superficie di assorbimento e di una buona 
fornitura di energia, per pompare nel sangue in modo attivo le molecole 
da riassorbire. 

 
17 L’eccessiva presenza di sale nel sangue aumenta il riassorbimento passivo 

di acqua, con il conseguente aumento di volume ematico e, quindi, della 
pressione. 

 
18 La figura 9.5 può fungere da riferimento. 
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Acquisisci i termini  
 
19 a. vescica urinaria, b. filtrato glomerulare, c. glicosuria, d. alcalosi, e. 

secrezione tubulare 
 

Understanding the terms  
 
20 a. glomerular capsule, b. aldosterone, c. renina, d. nephron 

 

Thinking scientifically  
 
21 Use the pump to increase the pressure of the blood passing through the 

tubule, increase the lenght of the tubule, and increase the rapidity with 
wich the dialysis fluid passes through the apparatus.  
 

22 The most likely cause is that the presence of glucose in the urine is the 
result of high glycemia, the characteristic symptom of diabetes mellitus.  

 
23 Nectar is chiefly a watery sugar solution, therefore when humming-birds 

feed they consume copious amounts of water and as a result it is 
advantageous for them to eliminate excess nitrogen as ammonia and 
dilute their excretions, without using energy to transform nitrogen into 
uric acid. 

 
24 The circulatory system is also involved in the functioning of nephrons as 

blood actively exchanges water and solutes with the filtrate. Recovery of 
water is a typical physiological response to low blood pressure, but this 
interferes with renal function.  

 
25 Drips are used to prevent dehydration, but cannot be of pure water 

because this would stimulate excessive diuresis, so saline solution is 
required. Glucose replenishes the supply of nutrients that the diarrhea 
may have impaired.  

 
26 The increase in bicarbonate ions in the blood tends to lower the pH, 

therefore the removal of these ions leads to a rise in pH, lowering the 
percentage of H2CO3 molecules which are lost as CO2. 
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CAPITOLO C10  
Verifica le tue conoscenze  
1 d  
2 b  
3 a  
4 d  
5 d  
6 c 
7 

 
 
8 c  
9 c  
10 d  
11 d  
12 d  
13 c  
14 d 
 
Verifica le tue abilità 
Metti a fuoco il concetto 
 
15 Una elevata calcemia induce la tiroide a secernere calcitonina, che porta a 

un riassorbimento del calcio da parte del tessuto osseo. In tal modo, la 
calcemia si abbassa e la tiroide non viene più stimolata a rilasciare 
calcitonina.  

 
16 La caffeina aumenterebbe l’effetto sullo stress dato dall’epinefrina, poiché 

verrebbe rallentato il processo di scissione del cAMP, responsabile di tale 
effetto.  

 
17 I sintomi più evidenti del diabete insipido sono la poliuria, ovvero la 

frequente e abbondante minzione, e una conseguente sete insaziabile. 
 
18 Ci sono varie coppie di ormoni antagonisti, cioè che producono effetti 

opposti sullo stesso organo bersaglio, per esempio: insulina-glucagone o 
calcitonina-paratormone. 
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Acquisisci i termini  
 
19 a. cellule bersagli, b. ormoni antagonisti, c. epifisi, d. cortisolo 
 

Understanding the terms  
 
20 a. thyroid gland, b. pineal gland, c. peptide hormon 
 

Thinking scientifically  
 
21 Calcitonin, being a paptide hormone, stimulates the metabolism of 

osteoblasts to form bone utilizing calcium.  
 

22 Use two groups of volunteers: one group consists of the “nocturnal type” 
and the other group the “diurnal type”. Collect blood samples from all 
volunteers when they are tipically sleepy and when they tipically wake up. 
If all goes well, the melatonin level rises earlier at night and lowers earlier 
in the day for early type.  

 
23 See Figure 10.3, a. pineal gland, b. hypothalamus, c. pituitary gland, d. 

thyroid, e. thymus, f. adrenal glands, g. pancreas, h. testicles 
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CAPITOLO C11  
Verifica le tue conoscenze 
1 a  
2 b  
3 c  
4 b  
5 a 
6 b 
7 

 
 
8 c  
9 b  
10 d  
11 b  
12 d 
13 c 
 
Verifica le tue abilità 
Metti a fuoco il concetto 
 
14 Un elevato livello ematico di testosterone deprime la produzione di ormoni 

gonadotropici da parte del lobo anteriore dell’ipofisi, riducendo la 
produzione di spermatozoi.  

15 L’ordine corretto è: zigote – segmentazione – morula – blastula – 
gastrulazione – gastrula. Dall’ectoderma si formano il sistema nervoso, 
l’epidermide, i denti e l’epitelio di bocca e retto; dal mesoderma si 
formano i sistemi muscolare, scheletrico, cardiovascolare, urinario, 
linfatico, riproduttivo, il derma, e gran parte degli epiteli; dall’endoderma 
si formano gli epiteli dei sistemi digerente e respiratorio e della vescica, la 
tiroide e le paratiroidi. 
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Acquisisci i termini  
 
16 a. spermatogenesi, b. oogenesi, c. fase follicolare/fase luteinica, d. fase 

proliferativa/ fase secretoria, e. segmentazione, f. gastrulazione 
 

Understanding the terms  
 
17 a. ovulation, b. gonad, c. germ layers, d. morula 
 

Thinking scientifically  
 
18 Testosterone causes increased cell division in the prostate. 

Microscopically, observe the effect of testosterone on cells taken from the 
prostate.  
 

19 a. Combined estrogen/progesterone pills taken daily; effectiveness about 
100%; it does not prevent sexually transmitted diseases.  
b. Latex cup and jelly inserted into vagina before intercourse, to cover 
cervix, effectiveness about 75%; it does not prevent sexually transmitted 
diseases.  
c. Small device inserted in uterus, lasts up to five years; effectiveness 
more than 90%; it does not prevent sexually transmitted diseases.  

     d. Progesterone releasing tube implant, it lasts tree years; effectiveness 
about 95%; it does not prevent sexually transmitted diseases. 

 


